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’ 100kN/mM##BZ % 1.00/0.00 ~ 099 114.94|3mZi#BZRD| - ~ = - -| 100kN/MZE#B 22 1.00/ 11.83 ~ 16.30 114.94|3m%#BZ % al ~ - - -
Zh st 1.00{099 ~ 878 100.00] Zh st | 000 ~ 8.78] 2.15 11.48 ZThLLSE 1.00| 500 ~ 11.83 100.00f Zh it | 500 ~ 16.30] 2.15 11.48
9 100kN/mM#%#BZ % 1.00/ 000 ~ 1.97 130.36|3mZi#BZRDH| - ~ = - -| 100kN/MZE#B 2% 1.00| 10.63 ~ 18.60 130.36|3m%#BZ 5 al ~ - - -
Zh st 1.00[197 ~ 975 100.00] Zh st 000 ~ 975 2.30 12.32 Zh LS 1.00| 500 ~ 10.63 100.00| #h it | 500 ~ 18.60] 2.30 12.32
3 100kN/mM##8Z % 1.00/ 0.00 ~ 207 132.11|3mZ#BRD| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.54 ~ 18.66 132.11|3m%#BZ% = ~ = = =
Zh st 1.00[2.07 ~ 9.86 100.00] Zh st | 000 ~ 9.86| 2.35 12.59 Zh LS 1.00|] 500 ~ 10.54 100.00| Zh it | 500 ~ 18.66] 2.35 12.59
4 100kN/mM#%# 8% % 1.00{0.00 ~ 232 136.12|3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 1053 ~ 20.12 136.12|3m%#BZ % = ~ = = =
Zh st 1.00{2.32 ~ 10.10 100.00] x5t | 0.00 ~ 10.10] 2.70 14.45 Zh LS 1.00] 500 ~ 10.53 100.00| Zhlist | 500 ~ 20.12] 2.70 14.45
5 100kN/mM#%# 8% % 1.00] 000 ~ 149 122.68|3mZ#BZD| - ~ = = -| 100kN/iZi#8 % % 1.00| 11.88 ~ 20.06 122.68|3m%i#BZ% = ~ = = =
Zh st 1.00[ 149 ~ 927 100.00] Zh st 000 ~ 927| 244 13.07 Zh LS 1.00| 500 ~ 11.88 100.00f Zh it | 500 ~ 20.06| 244 13.07
6 100kN/mM#%#BZ % -l -~ = -|3mZzBz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00{0.00 ~ 7.07 89.81] #hList | 000 ~ 7.07] 1.90 10.18 Zh LS 1.00] 500 ~ 10.69 89.81| Zhuls | 500 ~ 10.69| 1.90 10.18
7 100kN/mM#%# 8% % 1.00/ 0.00 ~ 0.01 100.08|3mZ#BZBH| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.54 ~ 10.55 100.08|3m%i#BZ % = ~ = = =
Lot 1.00{ 0.01 ~ 7.79 100.00] Zh st |0.00 ~ 7.79] 2.21 11.80 Zh st 1.00f 500 ~ 10.54 100.00f Z1list | 5.00 ~ 1055 2.21 11.80
8 100kN/mM%#EZ % = -~ = -|3m%EEZS -~ = = -| 100kN/MZE#BZ % = -~ = -|3m%EiEZ S = ~ = = =
ZnLst 1.00{ 0.00 ~ 6.06 76.01| zh st | 0.00 ~ 6.06] 1.58 8.44 Zhn st 1.00f 500 ~ 757 76.01| Zhlst | 500 ~ 757| 1.58 8.44
9 100kN/mM%#EZ % = -~ = -|3m%EEZS -~ = = -| 100kN/ %8z % = -~ = -|3m%EiEZ S = ~ = = =
Zrn Lot 1.00] 0.00 ~ 7.34 93.64] ZnList | 000 ~ 7.34| 1.82 9.76 st 1.00f 500 ~ 955 93.64| ZnLlis | 500 ~ 955 1.82 9.76
100kN/mM%#EZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
ZFh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#EZ % ~ ImEEZD ~
Zhn st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~
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